4(Multiply a 2-digit number by a 2-digit number: complete the missing stepgi

Complete the missing steps in the expression below.
65 77 98
X 2 C X 23 X 1¢
312 9 I I 882
1,540 918
1,62 1,771 ! |
34 712 37
X 2|5 X 1.0 X 4 3
170 00 111
680
I I 720 1,591
8 92 20
X 59 X 16 X 15
432 552 I I
I | 920 30
2,832 I | 450
216 6/3 66
X | 4|5 X 90 X 66
130 00
I | 5,670 3,960
1,170 I 4,356
.
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4(Multiply a 2-digit number by a 2-digit number: complete the missing step§—

Complete the missing steps in the expression below.

65 77 98

X 2E X 3 X 1 G
32§ T 882
130 1,540 9.8
1,62 1,771 1,862
34 712 37

X | 2|5 X 110 X 43
1710 00 111
680 720 1,480
850 720 591
8 92 0

X 59 X 16 X 15
432 552 15
[ 21400 920 30
2,832 1,472 45
26 63 66

X 45 X 90 X 66
130 00 396
,040] 5,670 2,960
1,170 5,670 4,356

-
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